11-3           0932347    池宗修           
The width of a rectangular slit is measured in the laboratory by means of its diffraction pattern at a distance of 2m from the slit. When illuminated normally with a parallel beam of laser light (632.8nm), the distance between the third minima on either side of the principal maximum is measured. An average of several tries gives 5.625cm.
a. Assuming Fraunhofer diffraction, what is the slit width?
b. Is the assumption of far-field diffraction justified in this case?What is the ratio L/Lmin?

答:

a. 
[image: image1.wmf]2

L

W

b

l

=

     W=5.625cm/3=1.875cm


[image: image2.wmf]9

2

2*2*632.8*10

1.875*10

b

-

-

=

=0.135mm

b. Lmin=
[image: image3.wmf]2

2

b

l

=
[image: image4.wmf]32

9

(0.135*10)

2*632.8*10

-

-

=1.44*10-2
  L/Lmin=139
_1240688697.unknown

_1240688770.unknown

_1240688832.unknown

_1240688541.unknown

